S— ®
—

hew balance
fitness equipment

950

Elliptical
Trainer

For MAXIMUM EFFECTIVENESS
AND SAFETY, PLEASE READ THIS

OWNER’S MANUAL BEFORE USING YOUR
NEw BALANCE 950 ELLIPTICAL TRAINER



TABLE OF CONTENTS

Important Safety INSTTUCTIONS ..., 2
Unit WArning LUBEIS ..o 3
SPECIfICUTIONS & PUIMS .. iiiviiiii e 3
INTTOAUCTION oo 4
ASSEMDIY INSTTUCTIONS .. .vvviiiiiii e 5-9
GettiNG STUMEA ...vviiiii 10
Using Your New Ellipticdl TrAiNer ..., 10-11
Hedrt Rute Chest Strap & RECEIVET ..., 12
Operdting the COMPUTET ..., 13-16
FA Q) ot 17
EXercise GUIAEINES .........coooiiiiiiiiiiii 18
KNOWINY The BUSICS...uvviiiiiiiic e 18
A Complete Exercise Program........ccccviiiiiiiin, 18-19
Aerobic Exercise: How Much? How Often? ......cccoccccciiin, 19
When 1O EXEICISE ...vvvvviiiiiiiiic 19
Medsuring Your Hedrt RUTE ... 19-20
ClOThING v 20
Tipps TO Keep YOU GOINY.......cvvvviiiiiiiininnnsneeeeeeeeeeaaaann, 20
Heart Rate Target Zone Chdrt.......cocoiicc 21
Warm Up & Cool Dowhn Stretches ..., 22-23
Cuare & Storage of Your Ellipticdl Trdiner ..o, 24
Workout Progress ChUrts ... 25
Exercise DUTU CRUIMS ..o 26
RePIUCEMENT KiTS ..\ 27
RePIUCEMENT PUIMS ...t 28

New Balance Fitness Equipment

©2005 Fitness Queste Inc. All rights reserved. Mude in Taiwun,
Fithess Quest, Inc., d/b/u New Bulunce Fithess Equipment,
New Balunce und NB logo are tfrademarks of New Balunce Athletic Shoe Inc.
Fithess Quest®Inc. is the exclusive licensee of New Bulunce Athletic Shoe Inc.

1/4/05



IMPORTANT SAFETY INSTRUCTIONS

Read all instructions before using this machine.

CAUTION:

Exercise of a strenuous nature, as is customarily done on this equipment,
should not be undertaken without first consulting a physician.
No specific health claims are made or implied as they
relate to the equipment.

1) Before sturting this or uny other exercise
progrum, consult your physician, who cun aussist
you in determining the target heart rate zone
uppropriute for your uge und physicul condition.
Certuin exercise programs or types of equipment
may not be uppropriate for dll people. This is
especidlly importunt for people over the uye of
35, pregnunt women, or those with pre-existiny
heulth problems or bulunce impuirments.

2) Monitor your heurt rute while you exercise und
keep your estimuted pulse rute within your turgyet
heurt rate zone. Follow the instructions on puyes
19-21 in this munudl regurding heart rute monitor-
ing und how to determine your uppropriute
target heart rate zone. When used properly, the
heurt rute pulse sensors, wireless chest strup und
display monitor provide u reusonubly uccurate
estimute of your uctuul heurt rate. This estimute
is not exuct und persons with medicul conditions
und/or u specific heed for uccurute heurt rute
monitoring should hot rely on the estimutions
fprovided.

3) Warm up before uny exercise progyram by
doiny 5-10 minutes of uerobic uctivity, followed
by stretching.

4) Weur comfortuble clothes that dllow freedom of
movement und that ure noft tight or restricting.

5) Weur comfortuble shoes mude of good support
with hon-slip soles.

6) Breuthe nuturdlly, never holding your breuth
during un exercise.

7) Avoid over fruining. You should be uble to curry
oh u conversution while exercising.

8) After un exercise session, cool down with slow
wulking und stretching.

9) This muchine should hot be used by or neur
children.

10) Hundicupped or disubled people must huve
medicul upprovul before using this machine
und should be under close supervision when
using uny exercise equipment.

11) If you are tuking medicution which may
affect your heart rate, u physiciun's advice
is ubsolutely essentiul.

12) Use this muchine only for its intended use us
described in this manual. Do hot use uttuch-
ments hot recommended by the munufaucturer.

13) Only one person ut u fime should use this
mauchine.

14) Do not put hunds, feet, or uny foreign objects
onh or heur this muchine when in use by others.

15) Always use this machine on d level surface.

16) Never operate the machine if the machine is
not functioniny projperly.

17) Start exercise slowly und gradudlly increuse the
umount of resistance.

18) If the user experiences dizziness, huuseu, chest
fouin, or uny other ubnormal symptoms, stop
exercise ut once und consult u physiciun
immediutely.

19) Use cuution not to pinch fingers or hunds in
moviny purts when using the unit,

20) Risk of electricul shock. This unit is to be used
ohly indoors und in a dry location.

KEEP THESE INSTRUCTIONS



UNIT WARNING LABELS

Important: See below for placement of the following warning labels on your unit.
WARNING LABEL 1

A WARNING

FAILURE TO READ AND FOLLOW THE SAFETY INSTRUCTIONS STATED IN THE
OWNER’S MANUAL MAY RESULT IN POSSIBLE SERIOUS INJURY OR DEATH.
KEEP CHILDREN AWAY. MAXIMUM USER WEIGHT 300 LBS.
REPLACE THIS LABEL IF DAMAGED, ILLEGIBLE OR REMOVED.

WARNING LABEL 2 WARNING LABEL 3
(six locations)

A WARNING

AWARNING PINCH POINT. KEEP HANDS CLEAR
CRUSH HAZARD. OF MOVING PARTS.
KEEP HANDS CLEAR OF )
MOVING PARTS. S ,R'%”X o Left
Computer Wln% M Swing Arm
. : - ®
' Pulse
Sensor

SPECIFICATIONS & PARTS

e . . Stationary
Specifications: Vertical Hundlebar
Approximate: Column
Length: 85" S WARNING
width: 22© T LABEL 1
Height: 65-1/2” ‘ Wauter Bottle
und Holder

Product Weight: Approxl ]76 |bs ‘_.’., ............................ L)
Maximum User Weight: 300 Ibs.

Verticul Column

Cover
............................. ° Foot
WARNING Plutforms

LABEL 2 Wheel
,A Covers
placed on insi S °
and outside of . = 3 .y

Swihg Arm Covers
on both sides Right  RVX:NINe
of unit

Roller LABEL 3
Tube

Left Swiny H
Arm Cover ®

Left Foot Left Roller Stubilizer
Tube Cover WARNING Tube Bar

LABEL 2

Battery placed on
Churyger both sides
of unhit



INTRODUCTION

CONGRATULATIONS ON PURCHASING
YOUR ELLIPTICAL TRAINER

With this product in your home, you have everything you heed to start
your owh workout progrum to tone and firm the mujor muscle yroups of
your lower body. This is vital for ull of us, regurdless of uye, sex, or fithess
level, und reyurdless of whether your primary goul is toninyg, heulth
muintenunce, or more eneryy for duily uctivities.

Proper exercise, including u low fat diet, strenygth fraining und uerobic
exercise, tones und condifions the muscles we use every duy to stund,
wdlk, liff and turn. It cun actudlly fransform our body composition by
reducing body fut und increusing the proportion of leun muscle in
our bodies. Using the Ellipticdl Trainer will help in reducing body fat
und increusing curdiovusculur endurunce.

Be sure to read through this Owner’s Manual carefully.

It is the authoritative source of information about your elliptical
trainer.

Retain this manual for future reference.

COMMENTS OR QUESTIONS ORDERING MISSING OR
DEFECTIVE PARTS

When ordering purts, always provide the followiny
information:

Deur Customer,

Congyrutulutions on your purchuse of the
ellipticdl trainer,

We're sure that you will be completely sutisfied 1) Nume, Muiling Address und Telephone Number

with the product und we invite your comments 2) Dute of Purchuse
so that we cun heur ubout your success. 3) Where Product wus Purchused

. it I Cust Service S st (Nume of Retdiil Store, City)

euse write or cdll our Customer Service Specidlists )

at the address or phonhe humber listed below, or D I\/Irodel Number (NBOr1 950-2) o
contuct us by email or on our web site, with any 5) Part Order Number und Description
comments or yuestions you muy have,

New Balance Fithess Equipment -

950 Elliptical Trainer

Customer Service Department

1400 Raff Road SW, Canton OH 44750-0001

1-800-292-5009, Monduy through Friday
9:00um to 5:00pm, Eustern Standard Time

emuil: customersupport@newbdalancefithess.com
www.hewbudluncefithess.com

All detdils depicted in this Ownher’s Munhudl, and of the
product itself, are subject to change without hotice.



ASSEMBLY INSTRUCTIONS

Occasionally our products contain components that are pre-lubricated
at the factory. We recommend that you protect flooring, or anything else
the parts may contact, with newspaper or cloth.

IMPORTANT
PLEASE READ ALL INSTRUCTIONS CAREFULLY BEFORE ASSEMBLING.

vertical NOTE: All location references, such as
column cover front, rear, left or right, made in these
instructions are from the user being
on the unit and facing forward.

(front)

right roller tube [ \ \
|
\

left roller tube

foot platform >
computer

—

book holder

foot platform

right vertical
column arm

left vertical
column arm

~p— bushing
\ caps
left \ battery aht
swing arm \\ charger stationary swirrllg arm
. handlebar left gnd right
Teovers | water botti
e
M8 x 60mm allen bolts

M8 washers and M8 nylon nuts
Tools Required:
(included)
Multi Hex Tool with
Phillips Screwdriver

multi hex tool
Allen Wrench 15mm with phillips
screwdriver
13mm
17mm ’
heart rate
allen wrench receiver
6mm

Fastener Pack



STEP 1 - Main Frame Assembly

a) Remove (4) Allen Bolts, (4) Wushers,
(2) Nylon Nuts und (2) Nut Cujps from
Mdin Frame, see Figure 1.

b) Position Left und Right Roller Tubes
behind Main Frame with Roller Tracks
onh top und rear Allen Bolts fucing
euch other.

¢) Slide Left und Right Roller Tubes into
Muin Frame, uligh bolt holes und
secure with (4) Allen Bolts, (4) Washers
and (2) Nylonh Nuts removed in Step 1a.
Tighten bolts with Allen Wrench provided
and install (2) Nut Caps.

d) Remove (2) Allen Bolts und (2) Waushers
from rear of Left and Right Roller Tubes.

e) Position Stubilizer Bur between Right und
Left Roller Tubes, dulign bolt holes und
re-instull (2) Allen Bolts und (2) Wushers
that were removed in Step 1d. Tighten
bolts with Allen Wrench provided.

STEP 2 - Foot Platform Installation

a) Remove (2) Allen Bolts, (2) Wushers
and (2) Nylon Nuts from the underside
of euch Foot Plutform, see Figure 2.

b) Rotute Crunk to the down stroke ~ crank

position und slide (1) Foot Plutform
onto either Front Foot Tube, see
Figure 2.

left fi
foot tube

c) Align bolt holes und secure usiny
(2) Allen Bolts, (2) Wushers und
(2) Nylonh Nuts removed in Step 24,

d) Lower Foot Plutform and position
Roller in Roller Truck, see Figure 2.

e) Repeut Steps 2b - 2d to instull the
remuininy Foot Plutform.

right front

foot tube

M8 x 15mm
allen bolt

& M8 washer

stabilizer
bar

M8 x 20mm
allen bolt

left front
foot tube

main
frame

right roller

left roller tub
roller tube tube

Figure 1 - Assemble Mdin Frame

M8
nylon
nut

right front

foot tube M8 x 80mm

i ‘ “ M8 washer allen bolt

Il | )

/‘\\‘Tﬂ{m“’ \ ‘ foot platform
\ h

ront

main
frame

P

Figure 2 - Instdll Foot Platforms

foot platform
M8 x 80mm

allen bolt

roller



STEP 3 - Vertical Column Installation

a) Remove (1) Phillips Screw from front of Vertical
Column. Slide the Verticul Column Cover onto
Vertical Column with the screw hole facing
away from the unit, see Figure 3.

b) Conhect Computer Wire and Computer
Extension Wire togyether and slide Verticul
Column onto Muin Frume.

¢) Aftuch Vertficul Column with (3) Allen Bolts,
(3) Wushers and (3) Nylon Nuts. Tighten Bolts
with tools provided.

d) Slide Verticul Column Cover downh onto Muin
Frame and secure with (1) Phillips Screw
removed in Step 3. Tighten screw with
Multi Hex Tool provided.

main
frame

STEP 4 - Computer Installation

a) Remove buattery door from back of Computer, insert
(4) "AA" Rechurgeuble Butteries und repluce the
buttery door, see Figure 4q.

b) Remove (4) Phillips Bolts from back of Computer.

¢) Connect Computer Wires und Vertical Column
Wires toyether und carefully tuck wires into
Vertical Column, see Figure 4b.

d) Mount Computer to Verticul Column using the
(4) Phillips Bolts removed in Step 4b and tighten
with Multi Hex Tool provided.

e) The Book Holder cun be uttuched at uny time.

NOTE: The Rechargeable Batteries (included)
must be charged before initial use for 2 hours,
see Step 9 and page 16 for instructions.

battery door
// //
! 1
/ )
/

rechargeable
“AA” batteries

computer

wires

Figure 4a - Install Batteries

vertical
column

M4 x 16mm
phillips screw ™~
vertical column
cover

computer

computer -
wire

extension wire \

M8 x 60mm
allen bolt

M8 washer
M8 nylon

nut

Figure 3 - Instull Verticul Column

computer

vertical
column

wires \

\
\

M5 x 10mm
phillips bolts

book

computer holder

wires

vertical
column

Figure 4b - Computer Instullation



STEP 5 - Swing Arm Installation

vertical
column

a) Remove (2) Washers und (1) Nylon Nut from left swing arm
Left Vertical Column Arm.

M10 large washer
pulse sensor

b) Slide Left Swing Arm onto Left Vertical Column

Arm with Pulse Sensor Wire to the inside, see pushing cap extension wire
Figure 5. M10 washer left vertical
column arm
¢) Slide (1) Lurye Wusher onto Left Verticul nyion mut ~ 2 pUlse sensor
Column Arm and screw oh (1) Bushing Cup [
with open end fucing out. F
d) Install (1) Washer and (1) Nylon Nut that were
snap cap

removed in Step 5u and tighten with Multi Hex
Tool provided.

Figure 5 - Instull Swihg Arms

e) Pluce Snup Cup over end und “shap” info place.

f) Repeut Steps Su - e to instdll Right Swing Arm.

STEP 6 - Assemble Swing Arms and
Connecting Arms

left swing arm

left swing

arm cover a) Remove (1) Allen Bolt, (1) Spucer, (1) Wusher und
“U” bracket M4 x 16mm (1) Nylon Nut from the Left Swing Arm.
phillips bolt
M‘%ﬁﬁﬁ’&?ﬁ b) Position Left Connecting Arm inside “U” Bracket on
Left Swing Arm, see Figure 6, und ulignh bolt holes.
left swing
arm cover ¢) Insert the (1) Allen Bolt thut wus removed in

Step 6u. Slide Spucer over bolt und secure usiny
(1) Wusher and (1) Nylon Nut. Tighten with Mulfi
Hex Tool provided.

M4 x 16mm

A

d) Remove (4) Phillips Bolts locuted in the outside

hillips bolt . .
phillips bo NI n\'x'clg und inside Left Swing Arm Covers.
left connecting arm washer nut

e) Position covers over “U” Bracket und Spucer, shup
spacer covers together und secure with the (4) Phillips
Bolts removed in Step 6d. Tighten bolts.

Figure 6 - Swing anhd Conhecting Arms Assembly , .
f) Repeut Steps b6u - be to ussemble right side.

M8 x 57mm
allen bolt

STEP 7 - Stationary Handlebar Installation

a) Remove (1) Short Allen Bolt, (2) Lony Allen Bolts,
(2) Nylon Nuts, (3) Wushers aund (2) Nut Caps from the

Verticul Column, see Figure 7. stationary

handlebar

b) Align front bolt hole in Stationary Handlebar with front
bolt hole in Verticul Column. Insert (1) Allen Bolt und
(1) Washer removed in Step 7u und fighten.

M8 washer

¢) Re-instull (2) Allen Bolts, (2) Nylon Nuts aund
(2) Wushers that were removed in Step 7a.,
Tighten bolts and install (2) Nut Cups.

M4 x 16mm
allen bolt
(short)

8 Figure 7 - Install Stutionury Hundlebar



STEP 8 - Water Bottle and Holder
Installation

a) Remove (2) Phillips Screws from Verticul Column,
see Figure 8.

water bottle

M4 x 16mm
phillips screw

b) Align Water Bottle Holder on Vertical Column
and re-instdll (2) Phillips Screws und tighten.

water bottle
holder

vertical column

Figure 8 - Install Water Bottle and Holder

battery
charger

STEP 9 - Charging the Batteries

rechqrgeoble
batteries To muintuin power to the Computer for 2 minutes
and retdin your duta for 1T minute ufter exercise

has stopped, the Rechurgeuble Batteries must be

chuarged before initial use for 2 hours.

a) Instdll (4) "AA” Rechurgeuble Butteries
(included) us instructed in Step 4.

b) Pluyg the buttery charger into receptucle
locuted on the buck of the Computer,
see Figure 9.

receptacle

computer

c) Insert the pluy of the battery charger intfo u
wull outlet und do nhot use the unit for 2 hours.

Figure 9 - Charging the Batteries d) When charging is complete, remove Buttery

Chuarger and store in u cool dry plauce.

Assembly is now complete.

IMPORTANT:
Please read pages 10-12 before beginning
your workout for important instructions
on how to use your elliptical trainer.




GETTING STARTED

Once your elliptical trainer is ussembled, mMake sure that your workout space has a solid, level surface
with plenty of spuce daround it. We recommend plucing u mat under your unit to protect your flooring.
Before you beyin your first workout on the ellipticdl trainer, practice getting on und off your trainer u few
times until you ure comfortuble with this movement.

Geftting On

Move the left foot platform to its lowest position.

1) Face forward und put your hunds on the
stationary hundlebur,

2) Place your left foot onh the left foot platform
und bulunce yourself,

3) Cuarefully lift your right foot over the machine
und pluce your right foot on the right foot
platform. Make sure thut you feel completely
bulaunced before beyinning your workout.

Geftting Off
When stepping off, you must gradudlly slow down the rate at which you
dre peduling until the unit comes to u complete stop.

1) Grasp the stationary handlebar with both hands (see Fig 3 above).
2) Step off the higher foot platform onto the floor (see Fig 2 above).

3) Then curefully tuke your other foot off the mauchine und down
to the floor (see Fig 1 ubove). Let go of the stationary handlebuar,

Correct Workout Position

When exercising, it is important to keep your back straight and knees
“soft” or slightly bent. Do not lock out your knees. Keep your heud up
as this will minimize neck and upper back strain. Always try to use the
trainer with g smooth aund rhythmical motion.

USING YOUR ELLIPTICAL TRAINER

The ellipticul frainer provides u completely smooth und naturdl feeling ellipticul puth that
minimizes the impact on your hips, khees und dankles while providing d superior uerobic aund
muscle toning workout. The durable steel fraume und fransport wheels make the unit mobile
und eusy to use.

IMPORTANT:

e This unit is not recommended for children.

o Always weur rubber soled workout shoes.

o Always make sure thut you feel balanced und secure.

e Always use your machine on a cleun, solid und level surface.

10



CHANGING FOOT POSITIONS

The yenerously sized foot platforms provide
workout stability and dllows you to vary
your foot position for maximum comfort,
Position your feet on the platforms

so thut you do not huve to leun 7.
forward while performing the exercise. & = Al

USING THE HANDLEBARS

Your elliptical trainer comes with both swing arms und stationary handlebars.

Using the Swing Arms

Grasp the swing arms. Use u firm grip but fry fo avoid “white knuckles”.
Bend your elbows slightly so that your arms are not hyperextended or
“locked out.” As your legys move in the ellipticul motion, pump your urms
buck und forth us if you were wualking. Using the swing arms will work your
upper body in uddition to your lower body. By using the swing urms, you
dre recruiting more muscles which will both elevate your heart rate und
burnh more culories thun simply doing u lower body workout,

Using the Pulse Sensors on the Swing Arms

The pulse window on your computer works in conjunction with the pulse
sensors found on the swinyg arms. When you dre reudy to reud your pulse:

1) Pluce both hands firmly on the pulse sensors. For the most uccurute
reading, it is important to use both hands and to temporarily stop Moving.

2) Look ut your pulse window. The smaill heart will begin to blink.

3) Your estimated heart rate will appedr in the window approximately
6 seconds ufter you yrusp the pulse sensors.

4) Refer to the Turget Heurt Rute Zone Chart found on puyge 21 of this munual.
For uddifiondl information about the importance of working within certain
heart rate ranyes, see puyes 19 und 20 - Meusuring Your Heart Rate,

5) This estimute is not exact und persons with medicul conditions und/or G
specific heed for auccurate heart rate monitoring should hot rely on the
estimations provided.

Stationary Handlebars

Pluce your hunds in the middle of the stutionary handlebars. Adjust your
hands left and right unftil you find the position most comfortable for you.
Bend your elbows slightly so that your arms are not hyperextended or
“locked out”. Using the stationary handlebars during your workout will
decreuse the umount of work in your upper body und increuse the
umount of work in your lower body.

11



HEART RATE CHEST STRAP AND RECEIVER

Your frainer comes with a Wireless Heart
Rute Chest Strap. Wearing the Chest Strap
during exercise will dllow you to have u Heurt Rute
reuding regurdless of hund placement. The receiver
that pluys into the Computer (hext to the book
holder) is the Heurt Rute Receiver. It must be
plugyed into your Computer so it cun receive the
wireless signul from the Chest Strap. Follow the
instructions in the Wireless Chest Strup puckuye for
directions on how to use the Wireless Chest Strap
while exercising.

Note: If the Wireless Chest Strap is used and your
units batteries have never been charged or are
low, then the unit must be exercised at minimum
speed of 25 RPM’s to insure an accurate Heart Rate
reading.

Important: To insure good contact and an
accurate Heart Rate readout, the (2) conductive
rubber areas locaied on the inside of the Chest
Strap must be well-hydrated with water or
conductive gel.

When the Wireless Chest Strap or Hund Pulse
Sensors are used, the Lower Window Display will
show u blinking light that matches your Heart Beut,
If there is no blinking light, or if it blinks irregularly,

12

receiver

wireless chest
strap

the Computer may not be picking up u strony
Heurt Beut sighal, Chunyge the position of your
hands oh the Hand Pulse Sensors. If using the
Chest Strap, udd water or conductive gel to the
(2) conductive rubber areus or re-adjust the
position of the strap on your chest.

A horizontdl position provides the best reception.
With the Book Holder instdlled, the Book Holder
slightly interferes with the Receivers horizontdl
position, but the position shown below is OK,

Heurt Rute Receiver
Placement Position




OPERATING THE COMPUTER

WARNING

The butteries must be instulled us instructed
on puye 7. Do not curry butteries loosely,
such us in u purse or pocket. The butteries

may explode or leak and cause injury if
installed improperly, misused, disposed
of in u fire or rechuryged.

WARNING

Do nhot pluy Battery Charger into wall until
computer is completely ussembled.

Introduction

This unit is equipped with u progrummuble
Computer to help track your progress and
Mmotivute you to reuch your fithess gouls.

The Computer feutures severdl different workout
programs that will tdilor to your individudl fithess
gouls. Simply press the Reset Button, enter your
weight, choose u workout program, set the workout
fime, resistunce level und beyin exercising.

Buttons

RESET: Press und hold this button for approximately
2 seconds to cleur und reset dll dutu to "0”. The
RESET Button must be pressed first before u hew
progrum cun be entered.

ENTER: After duta inputs such us Weight, Time, Age,
Sex und Target Heurt Rate us keyed into the
Computer, the ENTER Button confirms euch entry
and then moves the user to the next data entry.
When the Computer is set to a program mode und
exercise hus begun, the ENTER button dllows the
user to scroll through values of Time, Approximate
Cudilories, Distunce, Speed, Srides/Minh and Scan.

UP A: Press to increuse the values of Weight aund
Time, or to select one of the 8 programs.

During u selected progrum mode, und exercise hus
beyun, pressing the A UP button will increuse the
entire Brickyard Display Resistance Level.

DOWN V: Press to decreuse the vulues of Weight
and Time, or to select one of the 8 proyrams.
During u selected progrum mode, und exercise hus
beygun, pressing the ¥ DOWN button will decreuse
the entire Brickyard Display Resistance Level.
QUICK START: Allows the user to beyin exercise
immediutely by eliminating the input steps of
Weight, Program and Time.

SPEED
¢ STRIDE/MIN
sCcAN

Press the Reset Button, then the Quick Start Button
and the Computer will go directly into the Manhudl
Program (P1). Quick Start Mode hus default settings
of u Resistunce Level of (3), Weight of 150 Ibs. und
Time of 20:00 minutes. Once exercise hus beyun, the
Resistunce Level cun be increused or decreused ut
any time with the A UP or ¥ DOWN buttons.

Note: Once the user selects any program and inputs
a workout time other than 20:00 minutes, the default
for the Quick Start Mode will change to that Time
input. The Quick Start Mode will use the most recent
Time setting as its Time default.

Window Display

There are (3) different window displays that
continuously show your workout progress. The Upper
Display Window shows Time, Approximuate Cdlories,
Distunce, Speed, Stride/Min und will Scun through
euch of these functions. The large Brickyard Display
Window shows the varying resistance levels of educh
workout program and provides Comjputer input
instructions. The Lower Display Window shows your
Approximute Heurt Rute when the built-in

Pulse Sensors or Wireless Chest Strap are used.

Upper Window Display

TIME: Displauyed in minutes und seconds ranging
from 0:00 to 99:00 minutes thut ure counted in
(1) second increments.

CALORIES (approximate): Estimuted totul culories
burned ut uny time during the workout ure
displuyed und counted in increments of 1 from

1 to 9999 cdlories.

NOTE: Calorie expenditure is based on realistic
expectations; however, the Computer is not
programmed for all the necessary variables to
accurately monitor actual calories burned.

(contihnued onh hext puyge)

13



DISTANCE: Totdl miles or kilometers fraveled
during the workout ure frucked und counted in
increments of 0.1, from 0.1 fo 99.9. Select miles or
kilometers with the switch locuted onh the buck of
the Computer.

SPEED: Current workout speed is displayed in either
Mmiles per hour or kilometers per hour, depending
onh how the switch on the back of the Computer

is seft.

STRIDES/MIN: Displays the current strides per
minute.

SCAN: Displays euch funhctions individual output
for upproximately 4 seconds.

AGE: The Computer is uge-programmauble from
10 to 99 yeurs when you choose the Heurt Rute
Control Program (P7). If you do hot select un uye
it will default to an auyge of 25 yeaurs.

WEIGHT: Displays user weight in pounds from 45 Ibs.
to 350 Ibs. or in kilograms from 20 kys. to 160 kys.
dependiny on how the switch on the buck of the
Computer is set.

Lower Window Display

HEART RATE (approximate): Displays the estimuted
Heurt Rute in beuts per minute in the Lower Display
Window when either the built-in Pulse Sensors or
Wireless Chest Strap are used. The Lower Display
Window provides u constunt readout until there is
U chunge in programs or in resistunce level.

Pulse Sensors, locuted on the Swing Arms, dllow
the user to fruck their Heurt Rute while exercising.
By graspiny the Pulse Sensors and holding them
firmly the Computer will estimate and display
your current Heurt Rute. Your Heuart Rute will be
displuyed in the Lower Display Window us lony
us you ure holdiny the Pulse Sensors.

Note: If using the Wireless Chest Strap and

holding onto the Pulse Sensors simultaneously, the
Computer is programmed to give priority to the
Wireless Chest Strap. This means that when both
are used at the same time, the Computer will dis-
play your Heart Rate from the Wireless Chest Strap.

When used properly, the Pulse Sensors and/or
Wireless Chest Strap and Computer display
provide a reasonably accurate estimate of
your actual heart rate. This estimate is not
exact and persons with medical conditions
and/or a specific need for an accurate heart
rate monitoring should not rely on the
estimations provided.

14

Programs 1 - 6 (P1, P2, P3, P4, P5, P6)

PROGRAM 1
MANUAL

| N | S D | N |
| N | S D | N |
| N | S D | N |
| N | S D | N |
C I e JC It Je e JC e c JC JC JC JC JC ]
AN NN N NN NN NN NN N NN NN AN N N N AN
AN NN N NN NN NN NN N NN NN AN N N N AN
(NN N NN N NN NN NN NN N NN AN NN NN NN AN N

PROGRAM 2
CONSTANT POWER

N N | | | D D
N N | | | D D
N N | | | D D
N N | | | D D
N N | | | D D
N N | | | D D
CJC I I e JC JE C C Je JC Jr JC JC JC JC 1]
[N NN (N N NN N NN N NN NN NN NN N N R

PROGRAM 3
INTERVAL

N N | | | D D
N N | D D
N N O [N |_[ON| N D
CJC JC /ML EENC NN NN DN e ()
CJC JC /NN EENC NN NN DN e ()
] [N [NE) (W] [MENN| (NN (W]
C /EENC /N[ BN /BN NN DN
[N NN (N N NN N NN N NN NN NN NN N N R

PROGRAM 4
HILLS

CIC I JC I I I I JC mmmc ] JC JC JC _JC ]
| N N N || | O |
CIJC I JC JC e JC /e C JC JC JC ]
CIC I JC JC It JC /e 0 JC )L JC ]
CJC Ml NN BN [ el [ [ ]
| |  ieewl | ] [meml ] jeww | | [SS§ES.
AN NN N N NN NN NN N NN N N N N NN
(NN N NN N NN NN NN NN N NN AN NN NN NN AN N

PROGRAM 5
PLATEAU

| N | S D | N |
| N | S D | N |
| N | S D | N |
CIC I I I I I e I e C JE JC JC I JC ]
CIC I I I /. ()L JC ]
CIC I JC /. [ [ [ ]
e 1)1 7 1 1 1 1 1 1 | [
(NN N NN N NN NN NN NN N NN AN NN NN NN AN N

PROGRAM 6
MOUNTAIN

N N | | | D D
N N | | D D
N O | (W] IS AN N
C I JC /L e [ (]
(JC_ 7NN N N N N O N NN B [
11 1 1 1 1 1 1 1 1 1 I [
AN NN NN N NN N N N NN N N NN NN AN N B
[N NN (N N NN N NN N NN NN NN NN N N R



Programs 1 - 6 (Continued)

1) Start pedaling. Press and hold the RESET button
for upproximately (2) seconds to cleur dll dutu.,

2) Use the A UP und ¥ DOWN buttons to enter
your weight. Press ENTER to confirm.

3) Scroll through Programs 1 - 6 (P1-P6) with the
A UP und ¥ DOWN buttons until the light
reuches the desired workout program. Press
ENTER to select program.

4) Set the desired workout Time und Resistance
Level with the A UP and ¥ DOWN buttons.
Press ENTER to select ufter euch.

5) Press ENTER fo sturt the exercise progrum.

During exercise, the current workout resistunce level
will be flushing on the left side column of the
Brickyard Display Window. To chunhge the current
level, press the A UP button to increuse resistance
or the ¥ DOWN button to decreuse the resistunce.

Program 7 - Heart Rate Control(P7)

PROGRAM 7
HEART RATE CONTROL

| N | S D | O |
CIC I JC JC I ][ e ()L L]
CIJC I JC /N . [ [ ]
CIJC I JC /N . [ [ ]
C I I /. ([ ]
C I I A (L L]
CIC I I /A ()L JC ]
NN | D | | | |

This unigque proygram dllows the Comjputer to udjust
the resistance level automaticully according to
your heart rate., If the current exercise heart rate

is gredter thun the target heart rate you entered,
the Computer will automaticdlly decreuse the
resistunce level. If the current exercise heart rate is
lower thun the target heart rate you entered, the
Computer will automutically increuse the resistunce
level. Chunginyg the level of resistunce will dllow you
to keep your heurt rate ut the determined beuts
per minute.

Important: If you are not wearing the Wireless
Chest Strap, you must hold onto the Pulse
Sensors throughout the entire workout when
using the Heart Rate Control Program.

When used properly, the Pulse Sensors and/or
Wireless Chest Strap and Computer display
provide a reasonably accurate estimate of your
actual heart rate. This estimate is not exact and
persons with medical conditions and/or a specific
need for an accurate heart rate monitoring
should not rely on the estimations provided.

1) Start pedaling. Press and hold the RESET button
for approximately (2) seconds to clear dll daty,

2) Use the A UP and ¥ DOWN buttons to enter
your weight. Press ENTER to confirm.

3) Scroll through the progrums with the A UP und
¥ DOWN buttons until the light reuches the
Heurt Rute Control Program (P7). Press ENTER
to select program.

4) Set the desired workout Time, your Age und
Target Heart Raute with the A UP and v DOWN
buttons. Press ENTER to select ufter each.
Important: Be sure to set your actual age.

5) Press ENTER to start the exercise program.

Program 8 - Fitness Test (P8)

PROGRAM 8
FITNESS TEST

N N | | DD
N N | | DD
N N | | DD
N N | | DD
N N | | DD
N N | | DD
(| N | D | DD
(| | | D D

Program 8 (P8) is u Heurt Rute bused Fithess Test
that helps track your progress und keep you
motivuted to reuch your fithess goul.

When used properly, the Pulse Sensors and/or
Wireless Chest Strap and Computer display
provide a reasonably accurate estimate of your
actual heart rate. This estimate is not exact and
persons with medical conditions and/or a specific
need for an accurate heart rate monitoring
should not rely on the estimations provided.

1) Start peddling. Press und hold the RESET button
for aupproximately (2) seconds to cleur dll dutu,

2) Use the A UP und ¥ DOWN buttons to enter
your weight. Press ENTER to confirm.

3) Scroll through the programs with the A UP und
V¥ DOWN buttons until the light reaches the
Fithess Test Program (P8). Press ENTER to select
fprogram.,

4) Set your Aye with the A UP und ¥ DOWN
buttons. Press ENTER to select ufter euch.
Important: Be sure to set your actual age.

5) Select your gender. The Upper Window will show
either the humiber 1 for maule or 2 for femuale.
Press the A UP or ¥ DOWN button to set your
gender. Press ENTER to confirm.

6) Press ENTER to start und the program will count
down from 8:00 to 0:00.

(continued oh hext puye)

15



FITNESS TEST SCORES
WOMEN
AGE LOW FAIR AVERAGE GOOD HIGH
20-29 <24 24-30  31-37 38-48  >49
30-39 <20 20-27 28-33  34-44  >45
40-49 <17 17-23 24-30 3141  >42
50-59 <165 1520  21-27 28-37 >38
60-69 <13 13-17 18-23  24-34 >35
MEN
AGE LOW FAIR  AVERAGE GOOD HIGH
20-29 <26 25-33 34-42  43-52 >583
30-39 <23 23-30 31-38  39-48 >49
40-49 <20 20-26  27-35  36-44  >45
50-59 <18 1824  25-33 3442  >43
60-69 <16  16-22  23-30 3140 >41

Results Mode

After un exercise program hus been completed
the Computer goes directly into Results Mode.
In Results Mode the Upper Window Display will
automaticully set to Scun Mode and will display
the followiny vdlues:

1) TIME: Time of exercise

2) CALORIES: Totul Approximate Calories
expended

3) DISTANCE: Totul Distunce traveled

4) SPEED: Averuge Speed

5) STRIDES/MIN: Strides Per Minute

In Results Mode the Lower Display Window will
show the upproximute Averagye Heuart Rute for

the time exercised.

The Brickyard Display Window will display SCORE,
followed by your fithess Score. Refer to the tuble
ubove to evaluute your fithess score.

16

Charging The Batteries

Although the unit is self powered, the Computer
operutes during exercise only. When exercise stops,
the Computer turns off und cledrs dll data
immediautely.

Note: In order to maintain power to the Computer for
2 minutes and retain your data in the Computer's
memory for 1 minute after exercise has stopped, the
batteries must be charged before initial use for at
least 2 hours.

If you do not use the unit for 150 or more hours, it

is recommended to re-charge the butteries, us the
butteries will gradudlly lose charge when the unit
is ot used regularly.

To insure the Computer's batteries are fully
churged before initiul use, u 4 hour churyge fime
is recommended.

1) Install (4) "AA” Rechurgeuble Butteries us
instructed in Step 4 of the Assembly Instructions.

2) Pluy Buttery Churger into receptucle locuted
oh the buack of the Computer.

3) Insert the Plug of the charger into a wall outlet
und do hot use the unit for 4 hours.

4) Remove Buttery Churger und store in u cool
dry pluce.

Note: Although the unit's generator provides power
to both the batteries and Computer, the batteries
must be charged for at least 2 hours in order for the
unit fo operate optimally. The unit can be used
safely without charging the batteries first, however
the Computer will immediately shut off once
exercise has stopped due to lack of power from
the batteries.

To check if the butteries ure low, stop exercising und
fime how lony the display stays lit. If the display lights
turn off prior to 2 minutes, this indicutes the batteries
are low.



FREQUENTLY ASKED QUESTIONS

Q. Is there any danger to the unit if | charge the

Computer for more than 4 hours, or if | leave the

charger plugged in indefinitely?

A. No, churyging the unit beyond 4 hours or leuving
the charger in the Computer indefinitely, will hot
harm the Computer or the batteries.

Q. Can | use exercise power to charge empty
batteries?

A. Yes you cun, but it is hot recommended.
Although the unit's generator dlso provides
power to the butteries und helps to keep them
charyed if they have been initidlly charged full
by the Battery Charger, the rate at which the

generutor charges the butteries is slow. Therefore,

it will tuke ut leust 7 to 8 hours of strenuous exer-
cise to fully chargye empty butteries.

Q. When the batteries are full, do | have to

maintain a minimum exercise speed (Strides

per minute or RPMs) in order for the Computer

to function properly?

A. No.The only speed you must muintuin is u speed
that is sufficient fo cause the Computer displays
to light up.

Q. When the Computer is already set to one of

the 8 programs and exercise is under way, can |

push ENTER or QUICK START and jump to another

program?

A. No. Once the Computer is set to one of the 8
programs, you must press RESET fo first clear the
Computer, before it will accept a hew program,

Q. When | enter Program 8 (P8) and conduct
the Fitness Test, | note that my score is not
anywhere within the reference table. What
does this mean?

A. This usudlly means that the Computer did not
pick up u strony or steudy sighul from either the
Pulse Sensors or the Wireless Chest Strap. Once
the test is complete, if the average heurt rute
that is displayed in the Heart Rute Window is
noticeubly lower thun your known uveruye,
follow the steps mentioned under the WIRELESS
CHEST STRAP section on puye 12,

Q. After | enter data into the Computer and

begin exercise, | note that sometimes there is

a delay in the Heart Rate or Calories readout.

Why is this?

A. This is hormal. Some reudout such us Heart
Rute and Cudlories ure uverages which require
U Minimum umount of buseline dutu, Therefore,
immediutely ufter hew program start up, it
takes the Computer u few seconds to collect
u sufficient umount of buseline dutu, before the
Computer cun display the value.

17



IMPORTANT
Please review this section before you begin exercising.

IMPORTANT:

If you are over 35 und huve been inuctive
for severdl years, you should consult your
physician, who muy or may hot recommend u
ygruded exercise test.
If you dare just beginniny your exercise program,
your target heart rate range should be roughly at
60% of your muximum heurt rate. As you become
more conditioned (or if you are ulready in good
curdiovusculur shupe) you cuhn increuse your
turget heurt rate 1o 70%-85% of your maximum
heurt rate. Remember, your turyet heurt rate is
only u yuide.
You should dlso consult your physician if you
have the followiny:

e High blood pressure

e High cholesterol

e Asthmu

e Heurt trouble

e Family history of eurly stroke or

heart attack dedaths

e Frequent dizzy spells

e Extreme bredthlessness after mild exertion

e Arthritis or other bone problems

e Severe muscular, ligument or
tendon problems

o Other knowh or suspected diseuse

e [f you experience uny puin or tightness
in your chest, un irregulur heurtbeut or
shorthess of breduth, stop exercising
immediutely. Consult your physician
before continuing.

e Pregnunt

e Bulunce Impuirment

e Jauking medicutions that affect heart rate

18

KNOWING THE BASICS

Physicul fithess is most eusily understood by
exumining its components, or "paurts",

There is widespread agreement that these
five components comprise the basics of
physical training:

CARDIORESPIRATORY ENDURANCE - the ubility
to deliver oxygen and nutrients to tissues, and to
remove wustes, over sustuined periods of time.
Using your elliptical trainer will improve this.

MUSCULAR STRENGTH - the ubility of a muscle to
exert force for u brief period of time. Upper body
strength, for exumple, cun be meusured by various
weight-lifting exercises.

MUSCULAR ENDURANCE - the ubility of u muscle,
or u yroup of muscles, to sustuin repeuted contruc-
tions or to continue upplyiny force uyuinst u fixed
object. Push-ups ure often used to test endurunce
of urm und shoulder muscles.

FLEXIBILITY - the dbility to move joints and use
muscles through their full range of motion. The
sit-und-reuch test is u good meusure of flexibility
of the lower buck und bucks of the upper leys.

BODY COMPOSITION - often considered u compo-
nent of fithess. It refers to the mukeup of the body
in terms of leun muss (Muscle, bone, vitdl tissue und
orguns) und fat mass. An optimal ratio of fut to leun
mass is un indicution of fithess, und the right types
of exercises will help you decreuse body fat und
increuse or muintuin Muscle muss. To help track
your proygress we have provided Workout Progress
Chuarts on puge 25.

A COMPLETE EXERCISE PROGRAM

How often, how lony und how hurd you exercise,
und whut kinds of exercises you do should be
determined by whut you ure trying to uaccomplish.
Your gouls, your present fithess level, uge, hedlth,
skills, inferest und convenience dre umony the
factors you should consider. For exumple, un
uthlete truining for high-level competition would
follow u different proyrum than d person whose
gouls ure good hedlth und the ubility to meet
work und recreutionul needs.

Your exercise progrum should include somethiny
from euch of the four busic fithess components



described previously. Euch workout should beyin
with g warm up und end with u cool dowh. As u
generdl rule, spuce your workouts throughout the
week und uvoid consecutive duys of hard
exercise.

Here are the umounts of uctivity hecessary for the
averuge hedlthy person to muintain a minimum
level of overdll fithess. Included dre some of the
populur exercises for euch cuteyory.

WARM UP - 5-10 minutes of exercise such us
wualking, slow jogyging, knee lifts, arm circles or
frunk rotations. Low intensity movements that
simulute movements to be used in the activity
cun dlso be included in the warm up.

MUSCULAR STRENGTH - u minimum of two, 20
minute sessions per week that include exercises for
dll the mdjor muscle groups. Lifting weights is the
most effective way to increuse strenyth.,

MUSCULAR ENDURANCE - ut leust three, 30 minute
sessions euch week that include exercises such us
culisthenics, push ups, sit ups, pull ups, und weight
training for dll the mujor muscle groups.

CARDIORESPIRATORY ENDURANCE - dt leust
three, 20 minute workouts of confinuous uerobic
exercise euch week. Working out on your elliptical
frainer is a good way to obtdin this aerobic activity.
Other popular uerobic conditioning activities
include brisk walking, jogying, swimming, cycling,
rope jumpiny, rowiny, cross-country skiing, und
some continuous uction gumes like racqyuetbdll
and handbudll.

FLEXIBILITY - 10-12 minutes of duily stretching
exercises performed slowly, without u bounciny
motion. This cun be included dufter a warm up or
during u cool down. Refer to puyes 22 und 23
for u list of totul body stretches.

COOL DOWN - g minimum of 5-10 minutes of
slow wualking or lower intensity ellipticul exercise,
combined with stretching.

AEROBIC EXERCISE:
HOW MUCH? HOW OFTEN?

Experts recommend that you do some form of
uerobic exercise ut leust three times u week for u
minimum of 20 continuous Minutes. Of course, if
that is too much, start with a shorter time spun und
gradudlly build up to the minimum. Then gradually
progress until you ure uble to work uerobicully for
20-40 minutes. If you wunt to lose weight, you may
want to do your uerobic workout five fimes u week.

It is importunt to exercise ut un intensity vigorous
enhouyh to cuuse your heurt rate und breuthing to
increuse. How hard you should exercise depends to

u certuin deyree on your uge, und is determined
by meusuring your heurt rate in beuts per minute.
Refer to the "Meusuring Your Hedrt Rute” section
below and oh page 20 for more informaution on
how to determine und medusure your heurt rute.,

You cun do different types of uerobic uctivities, say
wualking one duy, and use your elliptical trainer the
hext. Muke sure you choose un activity that can
be done regulurly, and is enjoyuble for you. The
important thing to remember is not 1o skip too
many days between workouts or fithess benefits
will be lost. If you must lose u few days, gradudlly
work back into your routine.

WHEN TO EXERCISE

The hour just before the evening medl is u populur
fime for exercise. The lute uffernoon workout
provides u welcome chunyge of puce utf the

end of the work duy und helps dissolve the day's
worries und tensions.

Another popular time to work out is eurly
morning, before the work duy beyins. Advocutes
of the eurly start say it mukes them more dlert
und eneryetic on the job.

Amony the fuctors you should consider in
developiny your workout schedule ure personul
preference, job und fumily responsibilities,
avdilubility of exercise facilities and weduther. It's
important to schedule your workouts for a fime
when there is little chance that you will have to
cuncel or interrupt them becuuse of other
demunds on your time.

You should not exercise strenuously duriny
extremely hot, humid weduther or within two
hours ufter euting. Heut und/or digestion both
mauke heuvy demunds on the circulutory system,
und in combinution with exercise cun be un
over-tuxing double loud.

MEASURING YOUR HEART RATE
(see chart on page 21)

Heurt rate is widely uccepted us u yood method
for meusuring intensity during running, swimming,
cycling, und other uerobic uctivities. Exercise thut
doesn't ruise your heurt rute to u certuin level und
keep it there for 20 minutes won't contribute
significantly to curdiovauscular fithess.

The heart rate you should maintdin is called your
Target Heart Rute. There are several ways of drriving
at this figure. One of the simplest is: Muximum heart
rate (220 - age) x 70%. Thus, the target heart rate for
u 40 yeur-old would be 126. In this example for this
40 yeur old to get u curdiovascular effect the

(continued oh hext puge)

19



individuul would heed to keep their heart rate

at or ubove 126 beuts per minute to get u
curdiovuscular effect. Note: Although 70% wds
used in this example, the heart rate range heeded
to achieve results falls between 60% und 85% of
your mauximum heart rate,

If you are just beyinning your exercise progrum,
your turget heurt rate range should be roughly ut
60% of your maximum heurt rate. As you become
more conditioned (or if you ure dlreudy in yood
curdiovusculur shupe) you cun increuse your
target heart rate to 70%-85% of your mauximum
heart rate. Remember, your turget heurt rate is
only u yuide.

When checking heart rate during a workout, tuke
your pulse within five seconds ufter interrupting
exercise becuuse it sturts to go dowh once you
stop Moviny. Count pulse for 10 seconds und
multiply by six to get the per-minute rate.

Remember, your elliptical fruiner ulso comes with
pulse sensors locuted on the swiny arms.

When used properly, the unit pulse sensors
can help you to determine your estimated
heart rate. To do so:

a) Push the START button on your computer.

b) Gently yrub both metul pulse sensors on
both swing arms. Wit 6 seconds.

¢) Your estimuted heurt rute range will be
displayed oh screen. Check the chart on the
followiny puge to see if you ure within your
range uccording to your uge.

When used properly, the heart rate pulse
sensors and display monitor provide a
reasonably accurate estimate of your

actual heart rate. This estimate is not exact
and persons with medical conditions and/or
a specific need for accurate heart rate
monitoring should not rely on the
estimations provided.

By using the chart on puge 21 you cun see where
your heurt rate fdlls in the minimum und maximum
target zones.

The ubove ure guidelines, people with any medicdl
limitations should discuss this formula with their
physician,

20

CLOTHING

All exercise clothing should be loose-fitting to
permit freedom of movement, und should make
the weurer feel comfortuble und self-ussured.

Never weur rubberized or plustic clothing, such
gurments interfere with the evaporation of
perspiration and cun cause body temperature
to rise to dunyerous levels.

We recommend wedring a workout shoe with a
rubberized sole unless instructed otherwise.

TIPS TO KEEP YOU GOING

1) Adopt u specific plan und write it down.

2) Keep setting redlistic gouls us you go ulony,
and remind yourself of them often.

3) Keep uloy to record your proyress und muke
sure to keep it up-to-dute. See puyes 25-26.

4) Include weight und/or percent body fat
Mmeusures in your loy. Extra pounds cun eusily
creep buck.

5) Upyrade your fithess program ds you fproyress.
Your elliptical trainer provides 8 different
workout programs to keep your workouts
chdllenging.

6) Enlist the support und compuny of your family
und friends.

7) Updute others on your successes.

8) Avoid injuries by puacing yourself and including
U warm up und cool down period as part of
every workout. See puye 19.

9) Rewurd yourself periodicully for u job well done!



FOR CARDIOVASCULAR FITNESS

HEART RATE TARGET ZONE

TABLE 1
200
195
190
190
185
180 180
175
170 — | 170
165 165
~| 161
Heart 140 57 160
Rate T 153 155
(Be_qts/ 150 ~ 1 48 150
Min) ~_| 144 145
T~ 140 Maximum
140 ~-.140 Attainable
1136 136 Heart Rate
133 . 131
130 2 97
129 T~ \123 85%
119 . taraet
119 Zone
112 408
110
105 101
98 70%
100 Target
20 25 30 35 40 45 60 55 60 70 75 80 Zone
AGE (YRS)
TABLE 2
Exercise Warm Up THR% Cool Down Total Sessions Total Time
Week Period Minutes Period Time Per Wk. Per Wk.
1&2 5 min 60-65% -8 5 min 17 min 3 51 min
3&4 5 min 65-70% -10 5 min 20 min 3 60 min
5&6 5 min 70-75% -15 5 min 25 min 3 75 min
7 &8 5 min 70-80% -20 5 min 30 min 3 20 min
9& 10 5 min 70-85% -25 5 min 35 min 3 105 min
1T & 12 5 min 70-85% -25 5 min 35 min 3 105 min

2]



WARM UP & COOL DOWN STRETCHES

Stretches can help improve flexibility and relieve the tighthess in muscles
that results from repetitive sport movements that require d limited range
of motion, like elliptical striding. 10 to 12 minutes of ddily stretching is
recommended. This cun be done when warming up or cooling down.
When performing these stretches, your movements should be slow und
smooth, with ho bounciny or jerking. Move into the stretch until you feel
u slight tension, hot pain, in the muscle and hold the stretch for 20 o 30
seconds. Breuthe slowly und rhythmicudilly. Be sure not to hold your breuth,
Remember that dll stretches must be done for both sides of your body.

1. Quadriceps Stretch

Staund close to u wudll, chuir or other solid object. Use one hund
to wssist your bulunce. Bend the opposite knee und lift your heel
towdards your buttocks. Reuch back and grasp the top of your
foot with the sume side hand. Keepinhg your inner thighs close
toyether, slowly pull your foot towards your buttocks until you
feel a gentle stretch in the front of your thigh. You do not have
to touch your buttocks with your heel. Stop pulling when you
feel the stretch. Keep your kneecup pointing straight down and
keep your knees close toyether. (Do not let the liffed knee swiny
ouftward.)

Hold the stretch for 20 to 30 seconds. Repeut for the other leg.

2. Calf and Achilles Stretch

Stund approximately one arms length away from a wall or chair
with your feet hip-width apurt. Keepiny your toes pointed for-
wurd, move one ley in close to the chuir while extending the
other ley behind you. Bendiny the ley closest to the chuir und
keepiny the other ley struight, pluce your hunds on the chuir,
Keep the heel of the buck ley on the ground und move your
hips forward. Slowly lean forward from the dankle, keepiny your
buck ley straight until you feel u stretch in your culf muscles.

Hold for 20 to 30 seconds. Repeut for the opposite ley.

3. Overhead/Triceps Streich

Stand with your feet shoulder width apart and your knees slightly
bent. Lift one urm overheud und bend your elbow, reuching
down behind your heud with your hand toward the opposite
shoulder blade. Walk your fingertips dowhn your back ds far as
you cun. Hold this position. Reach up with your opposite hand
and grusp your flexed elbow. Gently ussist the stretch by pulling
on the elbow.

Hold for 20 to 30 seconds. Repeut for the opposite arm.

22



4. Back Stretch

Stand with your leys shoulder length apart and your knees
slightly bent. Bend forward from your wdist with your arms
extending loosely in front of your body. Gently bend from the
wuist flexing your body us far forward us it will go.

Hold for 20 to 30 seconds. Struighten up und repedt.

5. Standing Hamstrings Stretch

Stund with your leys hip-width apurt. Extend one ley out in
front of you aund keep thut foot flut against the ground. With
your hands resting lightly on your thighs, bend your buck ley
and leun forward slightly from your hips until you feel a stretch
in the back of your thigh. Be sure to lean forward from the hip
joint rather thaun bending at your wuaist,

Hold for 20 to 30 seconds. Repedt for the opposite ley.

6. Buttocks, Hips and Abdominal Stretch

Lay flat on your back with your hips reluxed uguinst the floor.
Bend one ley dt the knee. Keepiny both shoulders flut on the
floor, gently grasp the bent knee with your hands und pull it over
your body und towards the ground. You should feel a stretch in
your hips, ubdominuls und lower buck.

Hold for 20 to 30 seconds und releuse. Repeut for opposite side.

7. Inner Thigh Stretch

Sit on the floor and bend your leys so that the soles of your feet
dare toyether. Pluce your elbows on your knees. Leun forward
from the wdist and press down lightly on the inside of your knees.
You should feel u stretch in the muscles of your inside thigh.

8. Arm Pullback

Stand with your feet shoulder width apart and toes pointing
forward und with your knees slightly bent. Let your arms hany
reluxed on either side of your body. Expund your chest aund pull
your shoulders buck. Bend your elbows slightly und clusp your
hands behind your back. Slowly straighten your arms ds you lift
your hunds upward. Ruise your hands upward until you feel mild
tension in your shoulder und chest reyion.

Hold for 20 to 30 seconds. Lower your urms to their origindl
position und bend your elbows. Releuse your hands und return
them to your sides.

23



CARE & STORAGE OF ELLIPTICAL TRAINER

Instructions For Moving Your Unit

Your elliptical trainer is portable. If you heed to
chunyge the locution of your unit, pleuse follow
the steps below.

Care For Your Unit

Your ellipticdl trainer hus been cuarefully designed
to require MinimMum Muintenunce. However, we
recommend the followiny to keep your unit
operuting smoothly.

e Unpluy the unit when done charging the

e Unpluy your unit when it is done chaurying. butteries.

e Stand behind the unit and grasp the Stabilizer
Baur locuted ut the reur of the unit, Lift up

e Use your unit indoors only.
o Wipe dll perspiration from your elliptical trainer

with g soft, cleun cloth dffer euch use to
prevent un accumulaution of sweut und dirt,

Cleun your ellipticdl frainer on u regulur busis

using your leys - not your buck. Tip the
mauchine forward until it is resting on the
front transportution wheels/front rollers.

¢ \Wheel the muchine to its hew locution und

to prevent u build-up of dust. Use Windex or

unh ulcohol bused cleunser on u cleun cloth.
Do not use uny ubrusive cleuners und/or polish
us these will dumagye the surfuce.,

curefully lower the unit back down to the floor.

e Store your eyuipment in u dry areu away from
children und high traffic areus.

e Reyulurly check the tightness of huts und bolfs.

24



WORKOUT PROGRESS CHARTS

Use the chaurts below und on the followiny puyes to
keep track of your proyress over time. Before writiny
on them, muke us Muny copies us you think you’ll
need. We suyyest you keep these in u nhotebook. You
will find it both informative und motivational to look
back at what you've done, and this data will help you
to chart future fithess gouls us you proyress. Every two
weeks, meusure yourself to rechart your proygress.

Measuring Sites

Waist

Abdomen

. . . . Resting
Date Weight Waist Abdomen Hips Thighs Calves Heart Rate
o " o f Resting
Date Weight Waist Abdomen Hips Thighs Calves Heart Rate

Hips

Thighs (L/R)

Calves (L/R)

25



EXERCISE DATA CHARTS

Update once u week

Week # Of Total Week # Of Total
(Date) Workouts Workout Time (Date) Workouts Workout Time

26



REPLACEMENT KITS

LEFT SWING ARM KIT - NB950-K1L

KIT INCLUDES:

RIGHT SWING ARM KIT - NB950-K1R
KIT INCLUDES:

PART # DESCRIPTION Qry PART # DESCRIPTION Qry

3 Left Swihng Arm 1 4 Right Swing Arm 1

6 Pulse Sensor w/Wire 1 6 Pulse Sensor w/Wire 1
10 M25 x 30mm Wusher 1 10 M25 x 30mm Wausher 1
19 Spacer 1 19 Spucer 1
23 Metul Spucer 1 23 Metul Spucer 1
38 Bushiny 2 38 Bushiny 2
52 M10 Nylon Nut 2 52 M10 Nylon Nut 2
61 M10 Lurge Wusher 1 61 M10 Lurge Wusher 1
67 M10 x 57mm Allen Bushing Bolt 1 67 M10 x 57mm Allen Bushing Bolt 1
80 M10 Washer 2 80 M10 Wusher 2
101 M3 x 16mm Phillips Screw 2 101 M3 x 16mm Phillips Screw 2

LEFT REAR FOOT TUBE KIT - NB950-K2L

KIT INCLUDES:

RIGHT REAR FOOT TUBE KIT - NB950-K2R
KIT INCLUDES:

PART # DESCRIPTION Qry PART # DESCRIPTION Qry
15 M4 x 12mm Phillips Screw 4 15 M4 x 12mm Phillips Screw 4
16 Foot Platform 1 16 Foot Plutform 1
18 Wheel Cover 1 18 Wheel Cover 1
32 Left Reur Foot Tube 1 33 Right Reur Foot Tube 1

36 & 44 Roller w/Beurinys 1 36 & 44 Roller w/Beurings 1
49 M8 Thick Nylon Nut 2 49 M8 Thick Nylonh Nut 2
50 M8 Wausher 3 50 M8 Wusher 3
59 Non Skid 1 59 Non Skid 1
60 M6 x 15mm Phillips Screw 6 60 Mé x 15mm Phillips Screw 6
62 M8 x 80mm Allen Bolt 2 62 M8 x 80mm Allen Bolt 2
65 M10 x 58mm Allen Bolt 1 65 M10 x 58mm Allen Bolt 1
79 M8 Thin Nylon Nut 1 79 M8 Thin Nylon Nut 1
84 Metul Bushing 1 84 Metal Bushing 1

27



REPLACEMENT PARTS

Stationary Handlebar (2)
Stationary Hundlebur Pluy (37)
Stationary Handlebar Grip (97)

End Cap (17)
Right Roller Tube (45R)
M6 x 15mm Phillips Screw (60)

96

85

M4 x 16mm Phillips Screw (85)
Right Swinhg Arm Cover (95)
Left Swing Arm Cover (96)

Computer (8)

28

Foot Plutform (16)
Non Skid (59)
M6 x 15mm Phillips Screw (60)

End Cup (17)
Left Roller Tube (45L)

Mé x 16mm Phillips Screw (60)

@rm

Vertical Column Cover (24)

Buttery Charger (103)

15
11

A\15

Qutside Front Foot Tube Cover (11)
Inside Front Foot Tube Cover (12)
M4 x 12mm Phillips Screw (15)

Verticul Column (5)
Computer Extension Wire (28)
Pulse Sensor Extension Wire (98)

)

Wuter Bottle (14) Bushing Cap (21)

Shup Cuap (22)
34 >
/a

Stubilizer Bar (34)

Water Bottle Holder (20)

63

Square Foot Cup (63)



New Balance
Fitness Equipment

Dedication to Quality

New Balance Fitness Equipment warrants this
product to be free from all defects in material
and workmanship when used according
to the manufacturer’s instructions.

See Limited Warranty Card for details.

If you have any comments or questions contact our
Customer Service Department, toll free at 1-800-292-5009,
Monday through Friday, 9:00am to 5:00pm, EST.

Please record the following information and keep for reference.

Serial #:
Date Of Purchase:

Save your sales receipt.
(You may wish to staple it into this manual.)

1/4/05





